
 

 

1/ Entoure la bonne réponse :  

deux-cent-trois 2003 203 23 

sept-cent-dix 710 70010 70 

cinq-cent-sept 5007 57 507 

quatre-cent-trente 430 40030 4030 

 
 

2/ Recompose le nombre dessiné: 

 

 

 

 

 

          

 

 

406 501 500 

 

3/ Compare : ›‹ 

704  ‹ 740 405 › 45 500 › 499 203 ‹ 301 

800 › 759 409 ‹ 490 306 ‹ 312 480 › 408  

4/ Ecris en lettres ou en chiffres :  

205 deux-cent-cinq 

402 quatre-cent-deux 

170 cent-soixante-dix 

730 sept-cent-trente 

 

5/ Compte à reculons : 

200 199 198 197 196 195 194 193 

 

512 511 510 509 508 507 506 505 

 

6/ Décompose :  

543 500 + 40 + 3 5c 4d 3u 

756 700 + 50 + 6 7c 5d 6u 

824 800 + 20 + 4 8c 2d 4u 

509 500 + 9 5c 0d 9u 

210 200 + 10  2c 1d 0u 

600 600 6c 0d 0u 

 

Les nombres > 100 


